			Bid 2324-035 Spring Sports Ath	letic Equip	ment and Supp	lies	
Line	Qty	UOM	Description	Award Response	Award Quantity	Awarded Total	Awarded Supplier
1	50	EACH	BADGER B-DRY-CORE S/S SHIRT. 1 COLOR FRONT SCREEN	\$8.99	50	\$449.50	WINNING TEAMS BY NISSEL LLC
2	50	EACH	BADGER 7207 7" INSEAM PRO MESH GAME SHORTS. BLACK LEFT LEG SCREEN	\$8.40	50	\$420.00	WINNING TEAMS BY NISSEL LLC
3	20	EACH	BADER 4105 B-CORE LONG SLEEVE T SHIRT HOODIE. 1 COLOR SCREEN	\$16.05	20	\$321.00	AMERICA TEAM SPORTS
4	20	EACH	GILDEN 18500 ADULT HOODED SWEATSHIRT. 1 COLOR SCREEN	\$16.25	20	\$325.00	AMERICA TEAM SPORTS
5	10	PAIR	TCK SOCKS. SIZE LARGE. BLACK BSN#1463408	\$5.35	10	\$53.50	BSN SPORTS, LLC
6	10	PAIR	TCK PRO PLUS PERFORMANCE LONG SPORTS OVER THE KNEE SOCK.	\$8.35	10	\$83.50	BSN SPORTS, LLC
7	50	EACH	BADGER MENS ULTIMATE SOFTLOCK TEE BA4020. TWO COLOR SCREEN.	\$12.95	50	\$647.50	AMERICA TEAM SPORTS
8	1	EACH	TEAM EQUIPMENT BAG. BSN 1377678	\$11.37	1	\$11.37	BSN SPORTS, LLC
9	10	DOZEN	DIAMOND D1-NFHS NOCSAE LOW SEAM HIGH SCHOOL BASEBALL	\$87.00	10	\$870.00	DUGOUT SPORTS
10	10	DOZEN	DIAMOND DOL -A - NFHS NOCSAE OFFICIAL LEAGUE BASEBALL	\$68.15	10	\$681.50	AMERICA TEAM SPORTS
11	10	DOZEN	DIAMOND BLEM PRACTICE BALLS	\$56.00	10	\$560.00	DUGOUT SPORTS
12	1	PKG	TOTAL CONTROL TRAINING BALL 74 MULTI PACK	\$70.67	1	\$70.67	BSN SPORTS, LLC
13	1	EACH	FOLDABLE BALL BIN. 100 BASEBALL CAPACITY	\$99.97	1	\$99.97	BSN SPORTS, LLC
14	1	EACH	VARSITY L SCREEN 5X7	\$165.00	1	\$165.00	DUGOUT SPORTS
15	1	EACH	MUHLTECH PRO 5 X 7 L SCREEN. PADDED FRAME. AIRLESS WHEELS	\$300.00	1	\$300.00	DUGOUT SPORTS

16	1	EACH	POWDER COATED STEEL TUBING WITH HIP PROTECTOR. FRAM PADDING. LARGE AIRLESS	\$410.00	1	\$410.00	DUGOUT SPORTS
17	1	EACH	MUHLTECH PRO 7 X 7 FIELD SCREEN. PADDED FRAME. AIRLESS WHEELS	\$370.00	1	\$370.00	DUGOUT SPORTS
18	1	EACH	FIELD SCREEN 10X10	\$235.00	1		AMERICA TEAM SPORTS
19	1	EACH	BOWNET HITTING CUBE	\$440.00	1	\$440.00	AMERICA TEAM SPORTS
20	1	DOZEN	ACE BALLZ	\$32.00	1	\$32.00	DUGOUT SPORTS
21	1	DOZEN	ACE HEAVY BALLZ	\$56.00	1	\$56.00	DUGOUT SPORTS
22	1	DOZEN	TRUFLIGHT BASEBALLS	\$42.00	1	\$42.00	DUGOUT SPORTS
23	1	EACH	BOWNET PRO MAG TEE LITE. BSN #1464979	\$71.25	1	\$71.25	AMERICA TEAM SPORTS
24	1	EACH	MACGREGOR INFIELD TRAINING GLOVE. BSN 1281491	\$23.77	1	\$23.77	BSN SPORTS, LLC
25	1	EACH	RAWLINGS CONVENTIONAL ONE PIECE 33 PRO PREFERRED CATCHER MIT	\$299.95	1		PYRAMID SCHOOL PRODUCTS
26	3	EACH	RAWLINGS MACH SENIOR BATTING HELMET. MATTE BLACK BSN #MACH	\$38.95	3		PYRAMID SCHOOL PRODUCTS
27	1	SET	RAWLINGS ADULT MACH BASEBALL CATCHER SET. WHITE, GREEN	\$435.00	1	\$435.00	AMERICA TEAM SPORTS
29	60	EACH	THE GAME HAT. STRETCH FIT 1 SIZE FITS MOST. TGGP522. W/EMBROIDERY	\$22.00	60	\$1,320.00	BSN SPORTS, LLC
30	20	EACH	CHAMPRO CLASSIC BELT. BLACK, GREEN, WHITE	\$7.55	20	\$151.00	AMERICA TEAM SPORTS
31	20	EACH	CHAMPRO SPORTS GAMER ELASTIC BELT. BLACK, GREEN WHITE.	\$6.85	20	\$137.00	PYRAMID SCHOOL PRODUCTS
32	20	PAIR	FOREST GREEN, WHITE, VEGAS GOLD. SIZE LARGE	\$12.50	20	\$250.00	DUGOUT SPORTS
33	20	EACH	CHAMPRO COLD WEATHER COMPRESSION LONG SLEEVE CREW.	\$15.25	20	\$305.00	AMERICA TEAM SPORTS

34	12	EACH	SPORT TEK POSICHARGE COMPETITOR TEE. ST350 1 COLOR SCREEN	\$8.85	12	\$106.20	AMERICA TEAM SPORTS
35	10	EACH	SPORT TEK SPORT WICK FLEECE HOODED PULLOVER F244. 1 COLOR SCREEN	\$28.95	10	\$289.50	AMERICA TEAM SPORTS
36	20	EACH	EATON WALK-FF NX ELITE BAT PACK. FOREST GREEN	\$58.50	20	\$1,170.00	AMERICA TEAM SPORTS
37	1	EACH	DIAMOND SPORT 6 GALLON BUCKET WITH LID	\$17.75	1	\$17.75	DUGOUT SPORTS
38	1	EACH	TRIGON PROCAGE PROFESSIONAL BALL CART WITH WHEELS	\$295.00	1	\$295.00	DUGOUT SPORTS
39	1	EACH	BOWNET BP CADDY ELITE	\$51.57	1	\$51.57	BSN SPORTS, LLC
40	18	EACH	EVOSHIELD XVT 2.0 MATTE BATTING HELMET W/FACEMASK. BLACK	\$43.05	18	\$774.90	PYRAMID SCHOOL PRODUCTS
41	1	SET	EASTON JEN SCHRO THE VERY BEST FASTPITCH CATCHER'S SET. WHITE	\$299.99	1	\$299.99	PYRAMID SCHOOL PRODUCTS
42	1	SET	EASTON JEN SCHRO THE FUNDAMENTAL FASTPITCH CATER SET. WHITE, BLACK	\$220.00	1	\$220.00	AMERICA TEAM SPORTS
43	1	SET	EVOSHIELD FASTPITCH CATCHER'S GEAR KIT. WHITE	\$575.00	1	\$575.00	DUGOUT SPORTS
44	1	SET	ALL STAR HEIRESS FASTPITCH CATCHERS KIT (12-16) WHITE	\$221.27	1	\$221.27	BSN SPORTS, LLC
45	1	EACH	EASTON CATCHER'S WHEELED BAG. GREEN, BLACK OR WHITE	\$128.00	1	\$128.00	PYRAMID SCHOOL PRODUCTS
46	1	EACH	SLIDE-RITE TRAINING PRACTICE MATS. 10' X 3.6'	\$302.77	1	\$302.77	BSN SPORTS, LLC
47	1	EACH	9 HOLE PITCHER'S POCKET NET	\$319.97	1	\$319.97	BSN SPORTS, LLC
48	1	EACH	FIELD PROTECTOR SCREEN 7X7	\$118.00	1	\$118.00	DUGOUT SPORTS
49	1	EACH	SOCK NET 7X7	\$120.00	1	\$120.00	AMERICA TEAM SPORTS
50	1	EACH	CHAMPRO STEEL FRAME Z-SCREEN, BASEBALL/SOFTBALL PITCHRS NET 7 X 5	\$110.00	1	\$110.00	DUGOUT SPORTS

51	1	EACH	BOWNET BIG MOUTH X NET BOWBMX	\$149.95	1		PYRAMID SCHOOL PRODUCTS
52	30	EACH	EASTON SIGNAL COACH WRISTBAND	\$7.75	30	\$232.50	DUGOUT SPORTS
53	1	EACH	TANNER TEE	\$87.50	1	\$87.50	DUGOUT SPORTS
54	1	DOZEN	BALLISTIC PITCHING MACHINE SOFTBALLS	\$74.98	1	\$74.98	PYRAMID SCHOOL PRODUCTS
55	1	DOZEN	USA LEATHER FASTPITCH SOFTBALLS 11 INCH	\$58.97	1	\$58.97	BSN SPORTS, LLC
56	1	DOZEN	JUGS LITE-FLITE BASEBALL	\$30.00	1	\$30.00	DUGOUT SPORTS
57	1	DOZEN	JUGS BULLDOG™ POLY BASEBALLS	\$16.00	1	\$16.00	DUGOUT SPORTS
58	1	DOZEN	JUGS BULLDOG™ POLY SOFTBALLS	\$19.00	1	\$19.00	DUGOUT SPORTS
59	1	DOZEN	STING-FREE® DIMPLED BASEBALLS	\$48.50	1		PYRAMID SCHOOL PRODUCTS
60	1	DOZEN	STING-FREE® DIMPLED SOFTBALLS	\$58.89	1		PYRAMID SCHOOL PRODUCTS
61	1	DOZEN	TOTAL CONTROL BALL 82	\$70.97	1	\$70.97	BSN SPORTS, LLC
62	1	DOZEN	TOTAL CONTROL ATOMIC BALL	\$117.00	1	\$117.00	DUGOUT SPORTS
63	1	EACH	ACE HEAVY BALLZ 12-PACK	\$55.00	1	\$55.00	DUGOUT SPORTS
64	1	EACH	RAWLINGS ROCK ROSIN BAG	\$8.99	1		PYRAMID SCHOOL PRODUCTS
65	1	EACH	RAWLINGS SELECT PRO LITE BRYCE HARPER 12" FIELDERS GLOVE	\$54.67	1	\$54.67	BSN SPORTS, LLC
66	36	EACH	WHITE VISOR WITH EMBROIDERY	\$15.75	36	\$567.00	DUGOUT SPORTS
67	20	EACH	WHITE SOFTBALL BELT	\$2.49	20		PYRAMID SCHOOL PRODUCTS

68	10 PAIR	CHAMPRO OTC SOCK. FEATHERWEIGHTT ATHLETIC SOCK. BLACK, GREEN, VEGAS GOLD	\$2.99	10	\$29.90	PYRAMID SCHOOL PRODUCTS
69	20 PAIR	TCK ELITE PERFORMANCE BASEBALL SOCKS DUGOUT PATTERN B (BLACK & WHITE)	\$7.95	20	\$159.00	AMERICA TEAM SPORTS
70	20 PAIR	TCK ELITE PERFORMANCE BASEBALL SOCKS DUGOUT PATTERN E (BLACK & WHITE)	\$7.95	20		AMERICA TEAM SPORTS
71	20 PAIR	TCK ELITE PERFORMANCE BASEBALL SOCKS DUGOUT PATTERN D (BLACK & WHITE)	\$7.95	20	\$159.00	AMERICA TEAM SPORTS
72	50 EACH	WHITE (SKU# BSN1001) 1 COLOR FRONT SCREEN	\$10.50	50	\$525.00	BSN SPORTS, LLC
73	50 EACH	SLEEVE T-SHIRT WHITE (SKU# BSN1003) 1 COLOR SCREEN	\$10.50	50	\$525.00	BSN SPORTS, LLC
74	12 EACH	NIKE CLUB FLEECE CREW 010- BLACK (SKU# NKCJ1614) 1 COLOR FRONT SCREEN	\$38.00	12	\$456.00	BSN SPORTS, LLC
75	12 EACH	NIKE NIKE DRI-FIT ELEMENT 1/2 ZIP TOP 101- BLACK (SKU# NKDH4949) W/EMBROIDERY	\$58.00	12	\$696.00	BSN SPORTS, LLC
76	25 EACH	BSN SPORTS VELOCITY 1/4 ZIP PULLOVER. BLACK. LEFT CHEST EMBROIDERY	\$24.00	25	\$600.00	BSN SPORTS, LLC
77	12 EACH	NIKE NIKE DRI-FIT ELEMENT PANT 010- BLACK (SKU# NKDH4950)	\$55.00	12	\$660.00	BSN SPORTS, LLC
78	25 EACH	BADER C2 BASIC PERFORMANCE TEE. 1 COLOR SCREEN	\$7.40	25	\$185.00	AMERICA TEAM SPORTS
79	25 EACH	BADGER B-CORE HOOD TEE 010 - BLACK (SKU# BA4105) 2 COLOR SCREEN	\$16.75	25	\$418.75	AMERICA TEAM SPORTS
80	25 EACH	BADGER FIT FLEX LONG SLEEVE TEE WHITE (SKU# BA1001) 2 COLOR SCREEN	\$17.15	25		AMERICA TEAM SPORTS
81	25 EACH	BADGER ULTIMATE LONG SLEEVE TEE. 2 COLOR SCREEN	\$15.70	25	\$392.50	AMERICA TEAM SPORTS
82	12 EACH	NIKE NIKE TEAM MILER JACKET 010 - BLACK (SKU# NKDH8109)	\$67.00	12	\$804.00	BSN SPORTS, LLC
83	12 EACH	NIKE NIKE TEAM MILER PANT 010 - BLACK (SKU# NKDH8110)	\$67.00	12	\$804.00	BSN SPORTS, LLC
84	5 EACH	NIKE NIKE HOODED WINDRUNNER JACKET 012 BLACK/WHITE (SKU# NKCU9474)	\$75.00	5	\$375.00	BSN SPORTS, LLC

85	5 EACH	NIKE NIKE WATERPROOF JACKET 010 - BLACK (SKU# NKDA4967)	\$140.00	5	\$700.00	BSN SPORTS, LLC
86	5 EACH	NIKE NIKE WATERPROOF PANT 010 - BLACK (SKU# NKDA4984)	\$105.00	5	\$525.00	BSN SPORTS, LLC
88	15 EACH	NIKE DRI-FIT ELEMENT 1/2 TOP 010 BLACK/WHITE (SKU# DH4949)	\$58.00	15	\$870.00	BSN SPORTS, LLC
89	15 EACH	NIKE DRI-FIT ELEMENT PANT 010 BLACK/WHITE (SKU# DH4950)	\$65.00	15	\$975.00	BSN SPORTS, LLC
90	20 EACH	NUBLEND UNISEX HOODED SWEATSHIRT BLACK. #996MR 1 COLOR FRONT SCREEN	\$16.35	20	\$327.00	AMERICA TEAM SPORTS
91	20 EACH	NUBLEND POCKETED JOGGER SWEATPANTS. BLACK FJ9549. 1 COLOR LEFT LEG SCREEN	\$17.15	20		AMERICA TEAM SPORTS
92	20 EACH	BADGER C2 FLEECE HOOD. 1 COLOR SCREEN	\$10.75	20	\$215.00	BSN SPORTS, LLC
93	20 EACH	BADGER C2 ELASTIC FLEECE PLANT. LEFT LEG 1 COLOR SCREEN	\$15.65	20	\$313.00	AMERICA TEAM SPORTS
95	10 EACH	NIKE DRI-FIT COACHES TOP UV SS 101 WHITE/BLACK (SKU#FJ9571)	\$42.00	10	\$420.00	BSN SPORTS, LLC
97	10 EACH	NIKE DRI-FIT HALF ZIP TOP LS 010 BLACK/WHITE (SKU#FJ9549)	\$62.00	10	\$620.00	BSN SPORTS, LLC
98	25 EACH	BADGER WOMENS PRO COMPRESSION 3" SHORT BLACK	\$9.88	25	\$247.00	WINNING TEAMS BY NISSEL LLC
99	25 EACH	BSN SPORT RECRUIT HOODIE 1 COLOR SCREEN	\$30.00	25	\$750.00	BSN SPORTS, LLC
100	25 EACH	BADGER LADIES C2 SHORT LEFT LEG 1 COLOR SCREEN	\$8.05	25	\$201.25	AMERICA TEAM SPORTS
101	25 EACH	BADGER C2 BASIC PERFORMANCE TEE 1 COLOR SCREEN	\$7.40	25	\$185.00	AMERICA TEAM SPORTS
104	5 PAIR	NIKE ZOOM RIVAL SPRINT TRACK SPIKES	\$75.00	5	\$375.00	BSN SPORTS, LLC
105	5 PAIR	NIKE ZOOM RIVAL DISTANCE TRACK SPIKES	\$75.00	5	\$375.00	BSN SPORTS, LLC
106	5 PAIR	NIKE ZOOM SUPERFLY ELITE 2 (SKU# CD4382- 101)	\$160.00	5	\$800.00	BSN SPORTS, LLC

107	5	PAIR	NIKE HIGH JUMP ELITE (SKU# 806561-400)	\$135.00	5	\$675.00	BSN SPORTS, LLC
108	5	PAIR	NIKE TRIPLE JUMP ELITE 2 (SKU# AO0808-002)	\$135.00	5	\$675.00	BSN SPORTS, LLC
111	5	PAIR	NIKE WOMENS PEGASUS 41 RUNNING SHOE 100-WHT/BLK	\$100.00	5	\$500.00	BSN SPORTS, LLC
112	5	PAIR	NIKE PEGASUS 41 RUNNING SHOES 100- WHITE/BLACK	\$100.00	5	\$500.00	BSN SPORTS, LLC
113	5	PAIR	UA KICK SPRINT 4 TRACK SPIKES	\$53.00	5	\$265.00	DUGOUT SPORTS
114	5	PAIR	UA KICK DISTANCE TRACK SPIKES	\$56.00	5	\$280.00	DUGOUT SPORTS
115	5	PAIR	UA CENTRIC GRIP SHOES	\$68.00	5	\$340.00	DUGOUT SPORTS
116	5	PAIR	ADIDAS THROWSTAR SHOES	\$40.05	5	\$200.25	AMERICA TEAM SPORTS
117	10	EACH	UA HUSTLE 2 BACKPACK. 1 COLOR SCREEN LOGO	\$45.00	10	\$450.00	DUGOUT SPORTS
118	10	EACH	UA STORM UNDENIABLE 2 DUFFLE BAG 1 COLOR SCREEN LOGO	\$45.00	10	\$450.00	DUGOUT SPORTS
119	10	EACH	NIKE BRASILIA 9.5 TRAINING BACKPACK XL 30L (SKU# DM3975-010) 2 COLOR SCREEN	\$50.00	10	\$500.00	BSN SPORTS, LLC
120	20	EACJ	NIKE BRASILIA BACKPACK XL 9.0. BLACK. EMBROIDERY LOGO WITH NUMBERS	\$50.00	20	\$1,000.00	BSN SPORTS, LLC
121	1	EACH	ECONOMY OPEN REEL FIBERGLASS MEASURING TAPE 110'	\$22.00	1	\$22.00	MFAC, LLC
122	1	EACH	ECONOMY OPEN REEL FIBERGLASS MEASURING TAPE 165'	\$12.95	1	\$12.95	PYRAMID SCHOOL PRODUCTS
123	1	EACH	ECONOMY OPEN REEL FIBERGLASS MEASURING TAPE 330'	\$18.77	1	\$18.77	BSN SPORTS, LLC
124	1	EACH	ALUMAGOAL FIBERGLASS MEASURING TAPE 200'	\$12.57	1	\$12.57	BSN SPORTS, LLC
125	1	SET	METAL MARKERS - SET OF 12	\$26.00	1	\$26.00	MFAC, LLC

126	1	EACH	ULTRAK L10 AND L20 TIMER VINYL CARRY CASE	\$39.90	1	\$39.90	PYRAMID SCHOOL PRODUCTS
127	10	BOXES	SEIKO S-950 THERMAL PAPER.	\$13.95	10	\$139.50	PYRAMID SCHOOL PRODUCTS
128	1	EACH	GILL 2 DIGIT ELECTRONIC DISPLAY LAP COUNTER	\$699.00	1	\$699.00	MFAC, LLC
129	1	EACH	GILL LAP COUNTER DISPLAY STAND	\$525.00	1	\$525.00	MFAC, LLC
130	10	EACH	MULTI COLOR CHUTE ROPE AND PENNANTS 110'	\$23.00	10	\$230.00	MFAC, LLC
131	10	EACH	STARTING BLANKS .22 CALIBER	\$47.00	10	\$470.00	MFAC, LLC
132	10	EACH	STARTING BLANKS. 32 CALIBER	\$103.00	10	\$1,030.00	MFAC, LLC
133	1	EACH	IMPLEMENT SCALE	\$116.00	1	\$116.00	MFAC, LLC
134	1	EACH	VCPIT VINYL WEIGHTED PIT COVERS	\$591.63	1	\$591.63	BSN SPORTS, LLC
135	1	EACH	AMPIT ARMORMESH WEIGHTED PIT COVER	\$534.06	1	\$534.06	BSN SPORTS, LLC
137	1	EACH	PORT A PIT POLE VAULT EXTENDER	\$56.47	1	\$56.47	BSN SPORTS, LLC
138	10	EACH	PORT A PIT RELAY BATONS.	\$1.44	10	\$14.40	BSN SPORTS, LLC
139	1	EACH	ALFA STARTER PISTOL32 CALIBER	\$315.00	1	\$315.00	MFAC, LLC
140	1	EACH	ALFA STARTER PISTOL .22 CALIBER	\$315.00	1	\$315.00	MFAC, LLC
141	5	EACH	ULTRAK 495 100-LAP DIGITAL STOPWATCH	\$35.99	5	\$179.95	PYRAMID SCHOOL PRODUCTS
142	5	EACH	ACCUSPLIT PRO SURVIVOR 601X STOPWATCH	\$15.32	5	\$76.60	BSN SPORTS, LLC
143	1	BAG	PYRAMID SPIKES 1/4" BOG OF 100	\$11.00	1	\$11.00	MFAC, LLC

144	1 EACH	MIGHTY WRENCH SPIKE WRENCH	\$27.00	1	\$27.00	MFAC, LLC
145	1 EACH	PORT A PIT PREMIER HJ CROSS BAR	\$79.98	1	\$79.98	BSN SPORTS, LLC
146	1 EACH	PORT A PIT PREMIER PV CROSS BAR	\$94.98	1	\$94.98	BSN SPORTS, LLC
147	1 EACH	ELASTIC CROSSBAR	\$11.87	1	\$11.87	BSN SPORTS, LLC
148	1 EACH	FIRST PLACE INTERNATIONAL STARTING BLOCK	\$105.00	1	\$105.00	MFAC, LLC
149	1 EACH	GILL 1.6K HS HOLLOWOOD START DISCUS	\$352.00	1	\$352.00	MFAC, LLC
150	1 EACH	BLACK RUBBER PRACTICE DISCUS 1.6 G	\$3.92	1	\$3.92	BSN SPORTS, LLC
151	1 EACH	OLYMPIC WOOD DISCUS 1.6G	\$18.37	1	\$18.37	BSN SPORTS, LLC
152	1 EACH	OLYMP WOOD DISCUS 1K	\$13.23	1	\$13.23	BSN SPORTS, LLC
153	1 EACH	TRAINING DISCUS .85K-1.2K	\$95.00	1	\$95.00	MFAC, LLC
154	1 EACH	GILL VIBE 75% RIM 1.6K-NEON GREEN	\$87.97	1	\$87.97	BSN SPORTS, LLC
155	1 EACH	GILL S75 DISCUS 75% RIM 1K-AQUA	\$97.37	1	\$97.37	BSN SPORTS, LLC
156	1 EACH	SCHOLASTIC SHOT PUT 12 LBS	\$18.97	1	\$18.97	BSN SPORTS, LLC
157	1 EACH	SCHOLASTIC SHOT PUT 8 LBS	\$11.72	1	\$11.72	BSN SPORTS, LLC
158	1 EACH	SCHOLASTIC SHOT PUT 6 LB	\$8.63	1	\$8.63	BSN SPORTS, LLC
159	1 EACH	INDOOR SHOT 12LB	\$32.97	1	\$32.97	BSN SPORTS, LLC
160	1 EACH	GILL 1K WOMENS HOLLOWOOD DISCUS (SKU# GA313)	\$326.00	1	\$326.00	MFAC, LLC

161	1	EACH	BLACK RUBBER PRACTICE DISCUS 1KG	\$3.92	1	\$3.92	BSN SPORTS, LLC
162	1	EACH	CHALLENGER DISCUS 1 KG	\$12.37	1	\$12.37	BSN SPORTS, LLC
163	1	EACH	GILL S78 DISCUS 80% RIM 1K-GALAXY PURPLE	\$110.87	1	\$110.87	BSN SPORTS, LLC
164	1	EACH	SCHOLASTIC SHOT PUT 8 LBS	\$11.72	1	\$11.72	BSN SPORTS, LLC
165	1	EACH	VALUE PACK PRODUCT CODE VP 100 GILL ATHLETICS	\$405.00	1	\$405.00	MFAC, LLC
166	1	EACH	PORT A PIT SHOT AND DISCUS CARRIER	\$4.92	1	\$4.92	BSN SPORTS, LLC
167	25	EACH	BADGER MENS B-CORE TRACK SINGLET 1 COLOR SCHOOL NAME	\$9.60	25	\$240.00	AMERICA TEAM SPORTS
168	25	EACH	BADGER MENS B-CORE TRACK SHORT	\$8.88	25	\$222.00	WINNING TEAMS BY NISSEL LLC
169	20	EACH	COTTON T-SHIRT, SHORT SLEEVE. 1 COLOR SCREEN	\$6.75	20	\$135.00	AMERICA TEAM SPORTS
170	10	EACH	462100 BADGER SPORT PRO COMPRESSION CREW. BLACK. 1 COLOR SCREEN	\$17.50	10	\$175.00	AMERICA TEAM SPORTS
171	20	EACH	UA BACK PACK. BLACK	\$45.00	20	\$900.00	DUGOUT SPORTS
181	20	EACH	GIRLS PRACTICE SHORTS BLACK WITH POCKETS. 4 IN INSEAM W/ 1 COLOR SCREEN	\$17.50	20	\$350.00	DUGOUT SPORTS
182	20	EACH	POCKETS. 5 INCH INSEAM WITH 1 COLOR SCREEN	\$17.50	20	\$350.00	DUGOUT SPORTS
183	1	EACH	WEIGHT LIFTINIG CHALK BUCKET	\$260.00	1	\$260.00	MFAC, LLC
185	1	DOZEN	TOWELS	\$17.76	1	\$17.76	BSN SPORTS, LLC
187	2	EACH	REELS OF SOLINCO HYPER G STRING	\$169.99	2	\$339.98	TENNIS WAREHOUSE
188	_1	EACH	REEL OF BABOLAT RPM BLAST	\$234.95	1	\$234.95	TENNIS WAREHOUSE

189	1	EACH	60 PACK OF WILSON PRO OVERGRIPS	\$64.27	1	\$64.27	BSN SPORTS, LLC
190	2	EACH	SHOCK ABSORBERS	\$4.99	2	\$9.98	TENNIS WAREHOUSE
191	1	EACH	ROL-DRI SEAMLESS SPONGE ROLLER COMPLETE UNIT	\$60.97	1	\$60.97	BSN SPORTS, LLC
194	1	EACH	EDWARDS TENNIS NET 40LS TENNIS NET	\$182.97	1	\$182.97	BSN SPORTS, LLC
195	1	EACH	EDWARDS TENNIS NET CENTER STRAP BSN 1158267	\$5.67	1	\$5.67	BSN SPORTS, LLC
196	1	SET	AGILITY LADDERS	\$11.27	1	\$11.27	BSN SPORTS, LLC
197	1	SET	BANANA HURLDES	\$31.31	1	\$31.31	SCHOOL HEALTH CORP
198	10	EACH	JUMP ROPE	\$1.08	10	\$10.80	BSN SPORTS, LLC
199	20	EACH	BADGER HEX 2.0 TEE 1 COLOR SCREEN	\$15.85	20	\$317.00	AMERICA TEAM SPORTS
200	5	EACH	FOX 40 WHISTLE CLASSIC BLACK W/MOUTH GRIP	\$4.46	5	\$22.30	BSN SPORTS, LLC
201	1	EACH	MONSTER BALL CART BSN 1162608	\$98.22	1	\$98.22	BSN SPORTS, LLC
202	5	EACH	WILSON EVO NXT OFFICIAL BASKETBALL 29.5 IN	\$85.95	5	\$429.75	PYRAMID SCHOOL PRODUCTS
203	1	EACH	MARK V BASKETBALL SCOREBOOK	\$6.77	1	\$6.77	BSN SPORTS, LLC
204	1	EACH	SLIPP NOTT BASE AND PAD SET	\$125.97	1	\$125.97	BSN SPORTS, LLC
205	1	EACH	SLIPP NOTT REPLACEMENT PADD	\$37.40	1	\$37.40	SCHOOL HEALTH CORP
206	1	EACH	SKLZ D MAN HANDS UP DEFENDER	\$76.97	1	\$76.97	BSN SPORTS, LLC
207	1	EACH	SKLZ HEAVY WEIGHT CONTROL BASKETBALL	\$40.67	1	\$40.67	BSN SPORTS, LLC

200	4	SET	SKLZ PRO TRAINING AGILITY POLES ET OF 8	\$73.97	1	¢73.07	BSN SPORTS, LLC
208		SEI	CHAMPION BARBELL VERTICAL OLYMPIC BAR	\$13.91	I	\$13.91	DON OF OKTO, LLC
209	1	EACH	HOLDER	\$98.97	1	\$98.97	BSN SPORTS, LLC
210	25	EACH	BADGER TRI BLEND TEE. 1 COLOR SCREEN	\$10.50	25	\$262.50	AMERICA TEAM SPORTS
211	20	EACH	BADGER DIGITAL HOOK LONG SLEEVE SHIRT 1 COLOR SCREEN	\$21.00	20	\$420.00	BSN SPORTS, LLC
212	25	PAIR	SCORE SOLID 800 SOCKS	\$4.26	25	\$106.50	BSN SPORTS, LLC
213	20	EACH	BADGER C2 FLEECE HOOD. 1 COLOR SCREEN	\$18.85	20	\$377.00	AMERICA TEAM SPORTS
214	20	EACH	BADGER C2 ELASTIC FLEECE PLANT. LEFT LEG 1 COLOR SCREEN	\$15.65	20	\$313.00	AMERICA TEAM SPORTS
215	15	EACH	NIKE DRY FRANCHISE POLO WITH EMBROIDERY	\$38.00	15	\$570.00	BSN SPORTS, LLC
216	20	EACH	COLOR SCHOOL NAME SCREEN WITH NUMBERS	\$22.95	20	\$459.00	AMERICA TEAM SPORTS
217	5	EACH	SELECT ROYAL V22 SOCCER BALL SIZE 5	\$37.50	5	\$187.50	DUGOUT SPORTS
218	25	PAIR	SELECT SPORTS HIGH SAFE SHIN GUARD	\$8.93	25	\$223.25	BSN SPORTS, LLC
219	1	EACH	KWIK GOAL RONDO RING	\$57.47	1	\$57.47	BSN SPORTS, LLC
221	25	EACH	JERSEY STYLE 69156 SCHOOL NAIM SCREENED 1 COLOR. FRONT AND BACK	\$23.50	25	\$587.50	DUGOUT SPORTS
222	12	EACH	BADGER B CORE TEE SHORT SLEEVE 1 COLOR SCREEN	\$14.35	12	\$172.20	WINNING TEAMS BY NISSEL LLC
223	1	CASE	PENN TENNIS BALLS.	\$95.76	1	\$95.76	PYRAMID SCHOOL PRODUCTS
224	1	EACH	TENNIS RACQUET 1-1/2" BSN 1393405	\$16.17	1	\$16.17	BSN SPORTS, LLC

No award to line items 28, 87, 94, 96, 102, 103, 109, 110, 136, 172, 173,		
174, 175, 176, 177, 178, 179, 180, 184, 186, 192, 193, 220		
	Award Total	\$54,173.72